



$$E_n = -\frac{B}{n^2}$$

$$E_f = E_n - E_1$$

$$E_n = E_f + E_1$$

$$-\frac{B}{n^2} = E_f + \left(-\frac{B}{1^2}\right) = E_f - B =$$

$$1.9376 \cdot 10^{-18} \text{ J} - 2.18 \cdot 10^{-18} \text{ J} = -2.424 \cdot 10^{-19} \text{ J}$$

$$n^2 = \frac{2.18 \cdot 10^{-18} \text{ J}}{2.424 \cdot 10^{-19} \text{ J}} = 9.0083$$

$$n = \sqrt{9.0083} = 3.0014 \approx \underline{3}$$

Before:

$$-\frac{B}{n^2} = E_f + E_1 = E_f - \frac{B}{1^2} = E_f - B$$

$$-\frac{1}{n^2} = \frac{E_f}{B} - 1$$

$$n^2 = \frac{1}{1 - \frac{E_f}{B}}$$

$$n = \frac{1}{\sqrt{1 - \frac{E_f}{B}}} = \frac{1}{\sqrt{1 - \frac{1.9376 \cdot 10^{-18} \text{ J}}{2.18 \cdot 10^{-18} \text{ J}}}}$$

$$2.9989 \approx \underline{3}$$

Beispiel 2

Massenänderung:

$$\Delta m = 2.01410 \text{ u} + 3.01605 \text{ u} - (1.00866 \text{ u} + 4.00151 \text{ u}) = 0.01998 \text{ u}$$

Energie:

$$\Delta E = \Delta m c^2 = 0.01998 \cdot 1.6605 \cdot 10^{-27} \text{ kg} \cdot$$

$$(3.00 \cdot 10^8 \text{ m/s})^2 = 2.9859 \cdot 10^{-12} \text{ J} \approx$$

$$\underline{2.99 \cdot 10^{-12} \text{ J}}$$